Unit 6 — Quadrilateral Review Sheet #1 Name

Directions: Show all work by drawing and labeling a picture for every problem.

1) ABCD is a parallelogram. If AB = 4x + 7 and CD = 3x + 12, find AB and CD.
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3) a) In rectangle ABCD, the length of diagonal AC is represented by 6x—2 and the length of diagonal BD
is represented by 4x+2. Find the value of x.
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4) The chagonals of parallelogram ABCD intersect at E. If AE = 5x —3 and EC = 15 — x, find AC.
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5) In parallelogram PORS, PQ = x + 4 and SR = 3x — 36. Jﬁc - o4f

2 a.) Find x. b.) Find PQ and SR.
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c¢.) If QR = 2x — 16, show that PORS is a rhombus.
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Directions: Complete each of the following by choosing the answer which best completes the question.

6) In parallelogram PORS, diagonals PR and QS intersect at M. 6)
Which is always true? -
(1) PRLQS @) PM =RM
(3) PQ = QR (4) APMS = APMQ ¥
7) Inrectangle ABCD, AC is a diagonal. Which is always true? 2, ¢ 7
(1) AB = AC (2) AB = AD K /; [
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8) A quadrilateral whose diagonals are congruent but are not perpendicular 8)
to each other is:
@) a rectangle (2) arhombus w  rsoswles
(3) aparallelogram (4) asquare frape 2 ,..5
9) A quadrilateral whose diagonals are perpendicular to each other is: 9)
(1) arectangle @ a rhombus
(3) aparallelogram (4) atrapezoid
10) A quadrilateral that is equiangular but not equilateral is: 10)
@ a rectangle (2) arhombus
(3) asquare (4) a parallelogram
11) Which of the following statements is false? 11)
(1) A square is a thombus A rhombus is a square
(3) A square is arectangle (4) A rhombus is a parallelogram
12) The diagonals of a rectangle are always: 12)
congruent (2) perpendicular to each other
(3) parallel (4) bisectors of the angles of the rectangle
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Directions: Given each set of vertices, determine whether parallelogram ABCD is a rhombus, a
rectangle, or a square. List all that apply and PROVE YOUR CHOICE.
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